il

S

i reference o | 1.
Consider the following stalemens with
the Workers and Pensants Party :

y was formed in
. The Workers and Peasants Pa J:)f an All India

1927 and was given the forr W e ST st e oy
Orrganisation. P 2 :

7. .n:i abjective of this party was {0 wc;rk within w&%ﬁﬂ * sata @ #m FET a7
the Congress so that it could be mAce & More ; I 37T el et el
revolution inclined party and an organisation of T ST T A 1 |
the common pcnpi&-\ Wﬂﬁﬁﬁqﬁq_m;ﬁww e

Which of the above statemgats is/are correct ? @ FMAR2 1) | shwoa

(8 Neither I nor2 Cfb) Both1and2 © @2 @

() Only2 o) Only 1 .

co X R EY R L | ﬁﬁ%ﬁaammﬁmﬁamwwﬁwq
Consider the following' events and amange themin Sqafeaa fiforg: -
chronological order ; 1, ﬁF."ifEﬂT '{ﬁ?ﬁm}iﬁ A
: - A | -

1.  East India Association . : wHify j

2. National Indian hsmﬁaﬁqh' R % g’a i Esﬁzﬁ? j o - %

3. Indian Society S TR (et S &

4. Indian Association . . . 4. R iR 5

Select the cofrect answer from the codes g'i";.rml:;alnw : ??%ﬁqw@ﬁ%m’ramﬂﬁq:

(@) 1,324
(© 1,2,3,4

) 1,2,4,3
o) 2,1,4,3

- m. 'i_.; '.ll;'.' . _'-'__'T" 1

Consider the followinggfyents and arran ‘them. in

correct chronological ofder starting from the earliest
to the last activity : R

1.  RoyalIndianNavy Revolt
2. Announcement of Cabinet h-'liﬂsi'uﬁ '
3.  Formation of Interim Government - |
4.  Arrival of a UK Parlimnmtaryl Delegation in
Delhi Y (it |
Select the correct answer from the codes given below :
@ 4,1,2,3 T(b) 4,32
(c) 2,4,1,3 '-"dgl} 4,2,1,3
M
Consider the following@®iements wiih reference to | 4
the Justice Party : . L 3
1. The Justii:!:‘- Fﬂﬂlr’l Pm"-‘d Congress by calling
it a Brahmin dominate F?,f?ﬁ"l““ﬁﬁ

n,
2. It claimed the same COMMUR] renrecert .
for non-Brahmins ns the -

ofley.
had given to Muslims. ; Jﬁ?r Minto Tﬁtbm‘m
Which of the above statements is/arg bmm”
(8) Neither 1nor2 (b) Bolhlanqg |
(c) Only2 (d) Only ! A

e ms .,

Y

A9 13,24 (b)

o

1,2,4,3
© 1,2,3,4 @ 2,1,4,3

Frefofas weeli w few $ifw @ = o
AT H =Eftem i, wed Teer & S whad

. Taftw dudi wfaffiviea = s il o
EIEREARE TR R R S L8
(a) 4,1,2,3 by 4,3,2,1
VM 2,4, 1,3 @ 42,13

wifta o 3wt 1 Preffas wed o R i
wife it o =i = i 39 e e o
T B3 e T |

et st 3 foe 38 @ wmerafys wRfie
1 = far S fr wel-BiEt g 3 gEeE
i fammem |
Wﬁaaﬁq-m@wqﬁ%%?

@ ARITH2  Ab) 13RI
(©) Faw2 (@ F=wl

1
9 2
W 3, dalmwE e i
" 4
A

e



th
*

Given below are two statemnents, one is |abelled s 5,
Assertion (A) and the other as Reason (R).

Assertion (A) : The value of national currency
determined by demand and supply of foreign
currency is called flexible exchange rate.

Reason (R) : Demand and supply of the foreign

currency is being determined by the Central Bank.

Select the correct answer from the codes given below :

(a) (A)is false, but (R) is true,

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(c) (A)is true, but (R) is false.

(d) Both (A) and (R) are true, but (R) is met the
correct explanation of (A).

Given below are two statements, one is labelled as | %
Assertion (A) and the other as Reason (R).
Assertion (A) : There is a positive relationship
between Human Development Index (HDI) and the
Sustainable Development Goals (SDGs) ranking of
Indian States.
Reason (R) : The underlying dimensions of SDG
targels are closely related to education and health
aspects,
Select the correct answer from the codes given below -
{(a) (A)is false, but (R) is true.
(b) Both (A) and (R) are true, but (R) is mos the
correct explanation of (A).
(c) (A) is true, but (R) is false.

(d) Both (A) and (R) are true and (R) is the correct
explanation of (A). 7
Match List-I with List-Il and choose the correct
answer using the codes given below the lists :
List-I List-I1
{State) (Rank according ta expenditure
on infrastructure 2019 - 23)
A, Maharashtra 1. First
B. Uttar Pradesh 2. Second
C. TamilNadu 3. Third
D, Kamataka 4. Fourth
Codes ;
A B C D E
(a) 2 1 3 4
b 1 2 3 4
@ 2 3 " 4
@ 4. - 2 ‘3 L

DST.F-1-23
e e, P T M (1)
ﬁrwm)ﬂ“g;ﬂiﬁaﬁm L
e b S e o
m}ﬁﬁﬁfﬁﬁ*‘?ﬁmwmhm
P & 21 o

@ @t FIETae
() o ®) A W@ E SR R), () ) vy

e FA )

q (A EdHE @) TEaE
O @ A E B ®), ) A

ST AR HE S |
43y 2 g Ry e &, Rt & o 1 sfimem (A)
@ﬁwﬂ]wwm Wp

afrme (A) : WA (G JIFT (I
Vmﬁaim{aﬂﬁ(qaﬂﬁﬁ.]ﬂmﬁamm

1 e 7 wREE GAT R | [SPU])
/R (R) : Had Foyemre et &

ﬁrwqﬁﬁmi’rqﬁﬂa{immﬁl

sfrer o e e ¥ & W S A

(a) (Aamtﬁ%mag% ﬁlﬁ -

© (A) T (R) SHT @ §, (R), (A) #1 Tt

Ol TS g T s |

©) (AT, PR mem e

@ (A) mr (R) FHT W ¥ 3l (R), (A) B owE

T FT S |

HEfl-1 i ei-11 & it il ofte gt & 9 fig
Wﬁwﬁﬁﬂﬁﬂﬁﬁ%ﬁﬂi: L

a1 e
@) (201933 % S smarogs s
wﬁ;ﬂgw%aﬁmmm@/
A, WERIE 1. wyg oW
1B IWWW 2 fifiw 2
C. aferig 3. gdlm ®%
«D. T Tw 4, irﬂtf ;
LT

ST =

£

(a)
Ab)
(€)
(d)

jnu—mp..

f:--wmn-
Mn—-wun
l.#h-h-hg



10.

1L

12.

______ -—

ian Constitution
The Concurrent list of the Indian i
includes :
l. Trade and Commerce , %
2. Adulteration of Goods 25
3. Succession i |
Select the correct answer from the codes given below
(@ 1,2and3 () land3
(€) 2and3

@ onyl .
]

o o e .
Fathima Beevi died recéntly. Consider the following
statements regarding her ! ;
1. She was the ﬁrs'."..%umm judge of the Supreme

Court of India. i

2. She served as the Governor of Kerala from
1997 -2001. - )

3. She was the first Muslim woman to enter into
higher judiciary. i \ ;

Select the correct answer from the codes given below ;

(a) land3 (b) lond2

(€) 1,2and3 , (d) Onlyl '

With reference to the '?‘;‘%_ﬂunal Intellectual ﬁuperw

Rights Policy" considerthe following statements

l. It reiterates Inﬂii:l?r commitment to Dgha

Development ﬂg:m}ihd the TRIPS agreement.

2. Department of Industral Policy and Promotion is
the nodal agenc

Y tor regulating Intellectyal
Property Rights in Indi

ia,
Which of the above

(a) Neither 1 nor
(¢} Both1land?

slalements ls.’an: tur_m;t?
2 (b)) Onlyz

(d) Only1
Which Amendment Ac

s deal with Local Governane
Institutions in India 7 g

(2) 86N and g7th Ameiidment Acts |
rd th o £ i
(b} 63™ and 64 AmFm:Imm Acts
(€) 73 ang 74‘{'_am§:ﬁ.ammt Acts
(d) 427 g 43rd An{m:}mm Acts
i~ [
Consider the following stat

DST.F-1-23
e R < sl el e 4
P AR T :

2. wmEH ez

. SR
"%ﬁmmﬁammﬁ%ﬁ: s

(a) 1,233

(:J} 233 '/gg Al

wifeur et w0 owe @ F P oganm | w g
Frafafa st w fEft . '

/an#aﬂﬁwﬁwmw
Digl

A

9.

1997 — 2001 ﬁﬁﬁam#m%mﬁ

T ofr
- mifgen off | i
ﬂ%ﬁqmﬁaﬁ%nﬁrmﬁﬁu:' |
(a) 13fw3 (b) 132
Loy 1,233 (d) Faer1 :
10. *trﬁﬁlz'ﬂ‘rﬁﬁ:mmaﬂﬁmﬂ‘rﬁr"%{ﬁﬁﬁ
Fr=fifee we=t oo fmm ;
/mwmmmﬁmmmﬁm
ST i Srear 2 |
afﬁ%ﬁﬁm'-ﬁﬁr#ﬂﬁﬁ'ﬁ:ﬁmn, i § s
TR it T & o dm
i
mﬂ?ﬁﬁﬁﬂh—wﬂmmm?
(@) Fd13d2 (b) Hasa
L{E}/xachuﬁr-ﬁ (@) Fam
1. ﬂﬁwm@hmﬂﬁﬁmwﬁw:ﬂuwﬁmﬁ%
Hefia 9 0

(@) 86T 3fe 87 wiay iy
(b) 6351 3fr 64 Ty Aty
A2 7391 SR 74t weiy sty
(@) 423 3 4357 g Afafmy

ements wi T .

Special Officer t‘uF Linguistie Mi!!sur?rlﬁz :ﬂema 1. R ﬁw N e, R it ¥ wwk A

1. Inthe Constitution, thers is 8 provision for the ) wq{ﬁﬁ'ﬂ:ﬁﬁm;
Post of Special Officer for Linguistic Miper pe: HRER R, 5 1y ¥ R s &
for every State. : W%W%EHWMW%I

2. ﬂmmwﬂfliu!nﬁjﬂﬂmaddedfuﬂhjabymg _}/ ﬁﬁfﬁunﬁﬁqq T T fow o
9" Constitution Amendment Acy | : T 3T 150 g sy

Which of the above statemengs is/are correct 7' Wﬁﬁqﬁ? A o ;T%T ,:

a) Neither Inor2  (b) Oplyo : : s

O mbiwz @ o) N

£

i T
e S



11.‘

15.

16.

DST.F-1.23

forril & O 3P (A) 7o
Given below are two statements, one is labelled as | 3, ﬁ*ﬂﬁé}ﬁﬁ%:
Assertion (A) and the other as Reason (R). =} E@;ﬁﬁﬁﬂ o B A s ”
Assertion (A) : Most of the early nationalists (A) @ S At T T
considered British rule as an act of providence ’;ﬁﬁmtﬁ‘[ gﬁﬂqiﬁm mﬁﬁﬁﬁ“l
destined to bring modernisation. - aETa]
Reason (R) : They complained only against ® aﬁﬁmﬂaﬁﬂmﬁ -l e
“Un-British rule" in India. ;;IIHI .
Select the correct answer from the codes given below : ;ﬂ&mﬁqﬂlmﬁaﬁammﬂm:
(a) (A)is false, but (R) is true. . 5wt g R S L
(b) Both (A) and (R) are true, but (R) is nor the a ! R). (A
correct explanation of (A). ) (A 3R (R) eﬁ; :ﬂﬁ %’ ﬁ"_'s: (R), (A) 37 =t
() (A)is true, but (R) is false. ST R %
(d) Both (A) and (R) are true and (R) is the correct 4} (A) wé &, o (R) I
explanation of (A). @ (A sl (R) AT et § 3 (R), (A) = o
I
Which one of the following statements is mef correct MW%T ﬁ' .
about William A.J. Archbold ? - 14, fftraw v kRS § ol ¥ el
(a) He was the Principal of Lahore College, ﬂq_mﬁmaﬁﬂﬁ% ?
Lahore. (a) & i eI 3 e & |
“(b) ;I:c;n:s the Principal of Government College, ®) gmﬁ ﬁ;‘?ﬁ P 1 m'ra; & "
(¢} He was the Principal of the Muir Central (c) ﬁiél T, ETT
College, Allahabad. () Fwmuad Fiew, srefire & v |
(d) Hewas thn!‘rinm:]_?al of MAO College, Aligarh. 15. Peffes gzt w fGan i qur o= iy &
Consider the following events and arrange them in mwm
chronological order starting from the earliest : . deanfEE B
1. Vellore Mutiny 2. TAMESEEH Y § Eﬁ%
2.  Death of Nana Fadnavis 3. ek A e 2 &
3. Recall of Wellesley 4.  UeATEtgE Y
4.  Anglo-Nepalese War :ﬂaﬁqqq@ﬁa-ﬁgrmaﬁq ;
Select the correct answer from the codes given below : (@) 4,1,3,2 i"-"': ﬂ 2.3.1,4
i et 3.5 © 3124 04 (@ 2,341
) 3,1,2,4 @ 2,3,4,1 e
16. T F -1 i Hifvr ofk gt F A3 o
Mateh List-I with List-Il and choose the correct Wﬁﬂﬂﬂﬂﬂf;mﬁﬁq:
answer using the codes given below the lists : T i
List-1 List-11 =
(Revolt) (Leader) ¥ (fe=tg) 1 (g
A. Paika Revolt 1. Edachena Kungan » a'i'-;—-fr“ﬁ“ RELE . BT A
B. Bareilly Revolt 2. Radharam B. LE 2. TuEw
C. Malabar Revolt 3. Mufti Muhammad Aiwaz C. wwmEmfEe 3 o) HlenTe T
D. SylhetRevolt 4. Jagabandhu Bidyadhar D. fieee e gy 4. oy PR
Mﬂhﬂl}ﬂ.lﬁl H..“'_': - vy
Codes : b A B :’:{} D
A B C : m 3 4 2
() 3 4 1 2 ® 4 3 ?ﬁ 5
®;m 4 3 1 2 % © 2 1 3} g4
€@ 2° 1 3 %, . @ 3 5 g
O I .. g D s i



17.

1B.

19,

20,

Nuclear Security (ICONS-2024), whith of the 19, O] O W AR T (ICONS ~ 2024) %

following statements |5Fnre correct ? :r:} wd & freaierfias 58 Sa-and T T E 7

1. Thiam&rm«wéshemuuzs"‘h?fy}znm. 1. TBEHEEH 25 WE, 2024 F ST iy wr ar)

2. India  has . recently reconstituted an NI o ] EEET
inter-ministerial Counter Nuc]caq'-_q‘émuggling @ wmﬁj:ii:rm W:ﬂﬂ’f N o
Team (CNST) to strengthen the nuclear security. Wﬁﬂf% B AW (CNSTy=

Select 'lhe correct answer from the codes given below : y i

(8) Neither Inor2 - (b) Only2 - ﬁqw'i?ﬂﬁﬂﬁﬁtﬁﬁq

© Bothland2 () oOnlyy (@ Fd@ 1 TE2 (b) FEa2

_ e (e 1 ¥ 2 3 (d) e |
Wil reference to the “Pirul Lag— Paise Pao™ ‘.}}/
ot which of the following statements is/are |20, “fereer aTsit - ¥ i sTRw & Tt i P
Weta P This. is related to reduce forest ifires and to Bebiiiii VR
; Tde?.mrcun[mmmgmﬁ“ﬂﬂ‘j : Mww#m%wmﬁmmﬂm
. ﬂﬁ: Chief Minister of Uttarakhand mhed WA A Heifi 2 )

Select mcwgn. : €A E::) S e 3 g st i yema

ale ANSWeT from the codes givén below : A9 Ry e F & i s g 8
R o
() Bohlamd2 @ oy Y IWE2 @) ¥ '

- E - T s e e e e R rad b

, L5 bl |
With refercnce to the “Kohim g statements is/are

Eco-Park™ which of the followin

correct 7

l.  Its inauguration programme was, held -on
g March, 2024 at Kohima. '

2. It will be developed by South Kored.,

Select the correct answer from the codes given below

(8) Neither 1nor2  (b) Only2

(¢) Both1and2 (d) Onlyl

With reference to “Mobility Arrangement for
Talented Early-professionals Scheme” hﬂ"n'lﬁTEE].
which of the following statements iafare{épjrrcﬂ ?

1. This is a bilateral framework between India and
Australia. (i)

In this scheme Indian grad;lu}ﬂs (aged
18 — 30) with knowledge and skills in specific
fields of study will be offered to live and work
in Australia for up to two years.

Select the correct answer from the codes given below :
(a) Neither lmorZ (h) Omly2

(c) Bothland?2 (d) Omlyl

2

With reference to the Intemnational Conference on

DST.F-1-23

e wrife SIS i g ar & g | Pt

FRammaTm R eg?

I, e SeuTed FHEwT 8 U, 2024 T FifeaT &
ST Tore e T | ' .

2. sheforsien gr e s |

Fﬂ%ﬁqﬂﬁﬁﬁﬂﬁﬁmﬁﬁﬁ: |

J@ FAT1TE2 (b) Faer2 \

(€) 1sW2aM gﬁ Fae |

uferaranelt s Aeadt & f nftefieer sewn
AT (MATES), ¥ @ #f Freferftaa o & sa-w/a
FET AN RE? _
© =5 v oi e & e on R e gy
\}/‘wﬂwﬁrﬂw%ﬁﬁrﬁ BT T 31 it e
ATt TG S (18§ 30 9 =t 7Ry &1 & ad
s sl # @ i wmw B Fr e

18.

Enwidl
At faw e e ¥ & welt s gf
(a) =AAT17d2 ) FeaeT 2
() 13M22FT (d) =1




12.

ey

=4

DST.F-1-23

Consider the following mountains and arrange them |21, F=feriEa wear 7 A= Hifag ﬂ:ﬁfﬁ‘:‘% e
in comect order from West to East by their location : “E“W“E“ﬁ “Iiaﬁ ﬁtﬁﬁi‘;ﬁﬁ Eﬁﬁm:
1. Karakoram 2. Pontic gl FREE 5 st %“1
3, Hindu Kush 4. Zagros 2 gy s
Select the correct answer from the codes given below : :ﬂ%far»:mifﬁ 4w Eﬂ'{ﬂﬁ'! !
() 2,3,4,1 (®) 2,4,3,1 o) et lj'; . :t ; :
© 4.1,2,3 @ 4,2,3,1 Eﬁ © 442 "'*1 @ 453
Which one of the following pairs (River — DiE:I-ﬂctinn} @ Fefafea T‘ﬁ i‘(-_m it gt s ) 3 & s
is mot correctly matched ? wé gifed qﬂ % ?
(a) SyrDarya — North-West @ Raefar | - wAREE
(t) Amur river — WMorth-East (b) LR - W-‘Ei
(c) Mckongriver  — South-West (@ FEmaE - afw-aRE
(d) Angara river — Morth G o - IW
Which i i
(Country — g}Tﬁuld;t;s nﬂmcfm'ectf;]:::::hmed ? & @ Pt Tﬁr (%'ﬂ - Q?ﬁj FR W T 'ﬁﬂﬁlﬁ'
(a) Kuwait — Kashagan ~ TR
(b) Iran - HafiKel @ F G-
() Irag ~  Zubair ®) f7 C0- EEE
(d) Saudi Arabia ~ Dhalran (c) U Fféi - K v

@ wd I 3 -  HTEH %

Consider the following statements with reference to
Mediterranean climate ;

1. Tt receives rainfall in winter season.

2,  Due to winter solstice, air pressure belts shift to

the South.
Which of the above statements ig/are correct 7
(a) Neitherlnor2 (b) Only2
(c) Bothland2 (d) Onlyl

Consider the following statements with respect to the
climate of Western Europe :

. Western Europe receives rainfall in all months.

2. Western Europe is located in the belt of
Westerlies,

Which of the above statements isfare correct 7

24, mm%wﬁﬁﬁﬂ%ﬁamﬂm

../V umrﬁaﬁﬁaﬂfs‘ﬁﬁtl
A i s & o arEE At e

W flaaw et 81

SRR | A e A 2E Q{Ij
(a) FA17HY (b) FEer2

o 1 32 2, (d) Faer

!Lﬂ
ot e Y sy 3 e § Freferian A T
ﬁﬂ'ﬂ'ﬁm: 4
1. ufdt gt § mf et aut o d)
A it i v v o 48 & aria feaa |

Iudeh U # R-EVA FeT A 2 0
(a) TAA1TE2
() 13w 23E

O FEm2

25.

(a) Neither 1 nor 2
(b) Bothland2
{c) Only2

(d) Onlyl

(d) Fae

. ———— e P

o L

t?i

==
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26,

27,

28.

Consider the following statements with reference to

Upper Gangetic agro-climatic region :

I.  This region encompasses central and western
Uttar Pradesh.

2.  This region has mofé than 130% irrigation
intensity and 140% ﬁmpping intensity,

Which of the above slale:r':f{::l;is is/are correct 7

(@) Neitherlnor2 (b)) Bothland2

© Only2 & o1

DST.F-1-23

26, St vim 3 At R sy A ¥ e Pt
o] OT R i
- g & F oi afterdt I e d feega B

2. v & i ff=d e 130% i aur Fiy
e 140% 81

s fag g e # & @t s g
() FAIFEZ @ 13fc 2 aFT

(c) - e 2 (d) ?‘ﬁ?' -

Match List] with Listil and choose fhe curr::;t‘@ el 0 el & e g st g %A g

answer using the codes given below the lists :

List-T List-lI
(Pass) (Height from Sea Level)
A, Debsa 1. 5360 metres
B. Rohtang 2. 4?5?} metres
C. Bara-lacha 3. 3?;?_1’3 metres
D. Banihal 4. 2832 metres '
Codes ™
A B C D
(@ 3 1 2 4 |
® 1 3 2 4
(e} 3 | 4 2
@ 1 4 2 .3 @
o
Given below are two statf.'r&mts.;nnc is labelled as

Assertion (A) and the Dﬁlq::li% Reason (R).
Assertion (A) : Jute is an ii'ifl;::}igenous plantof India.

Reason (R) : Jute is & Kharif crop sown from
February to June and harvested from July to October.

Select the correct answer from the codes given below :
(@) (A)is false, but (R) is true,

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(c) (A)is true, but (R) is false.
(d) Both (A) and (R) are true, but (R) is nor the

7T 32 T ST 6 Hel I Y

I TE-11
g (TR e | HTE)

EC )] : 1. 5360,
i 2, 4850%T
AT =T 3. 3978 fieX
AT - 4 28327t

P00 m »

—

B

Pty
-—-I.n.'ln—-u.lh.
,p.l—l.,l.‘ln—-w
L= L e
LT I S e o =

28, ﬁﬁwmmﬁ,mﬁﬁ@ﬁmww

GHUF T (R) Fa1 7 2 |

ST (A) : 5 v R g

FT (R) = 52 Wl A e R, Bl el & o i
ST S & e S & S S et ey S 2|
ﬂ%ﬁqw@ﬁﬁnﬁmgﬁq:
(@ (A)yTead, g E) e

(A) 3T (R) W & & A R), (A) B wh
: ST FAATE |

I (A)maE g ) ey

correct explanation of (A),

o e i L

e e o o e o i L e e

& @ M (R) 3 = E, B (), (A) H T
T 78T FE § | .

Ei
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29.

30.

3L

32,

Match List-I with List-Il and choose the cum:c@

answer using the codes given below the lists :

Lisi-1 List-11
{Author) fBook)
A, Lallanji 1. A Comprehensive History of
Gopal India ; The Delhi Sullanal
B. Habiband 2. The Economic Lifc of
Nizami Morthemn India
C. KS.Lal 3. Early Chauhan Dynasties
D. Dasharatha 4. History of the Khaljis
Sharma %
Codes ;
A B C D
fa) 1 2 3 4
by 2 1 4 3
€ 3. -& 1 =g
(d 4 3 2 1

Consider the following statements : -
1. Kunwar Singh, Landlord of Jagdishpur in
Bihar, led the rebellion against the British.
Lord Dalhousie recognised the adopted son of
Rani Lakshmi Bai as the heir apparent. '
Which of the above statements is/are correct 7
(a) MNeither 1 nor2 (b) Only2 .

(c) Both1land2 (d) Only 1.
Consider the following foreign travellers and arrange
them in ascending chronological order :

2

1. I-Tsing

2. Al-Biruni )

3. Huentsang (Hiuen Tsang)

4,  Fahyan (Fa-Hien)

Select the correct answer from the codes given below :
(8 4,3,1,2 (b) 1,2,3,4

(c) 3,4,2,1 (d) 2,1,4,3

Given below are two stalements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : Balban made his government firm
and centralised all authority in his hands.
Reason (R) : He wanted to protect the north-west
frontier against Mongol invasions,
Select the correct answer from the codes given below :
(a) (A)is false, but (R) is true.
(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).
(c)

DST.F-1-23

g g _I[gg&faaaﬁ!ﬁ'ﬂ:ahlﬁlﬁ?%i’r%ﬁq

mq‘zﬂﬂﬁﬂﬁwm
eft-1 e |
ice) - i

A m:ﬁﬁ 1. mﬁ%ﬁﬂ%@mm
] ri‘rqrafl"i zﬁﬁﬂﬂﬁ?ﬂ
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With reference to the Age of Consent Act, 1891 |
consider the following statements : s
I. It was Behramji Malabari, a Parsi reformer
from Bombay, who advocated for this
legislation, N
The Act was supported by the extremist wing
led by Bal Gangadhar Tilak.

Which of the nﬁe statements is/are correct 7

() Neitherldor2 (b) Only2"

() Bothignd2  (d) Onlyl

Given below &8 two statements, one is labelled as
Assertion (A) & the other as Reason (R).

Assertion (A)3Shivaji had to face opposition from
the big Deshmukhs. [
Reason (R) : These Deshmukhs were not in favour

of an independent Maratha State and wanted to
remain as feudal lords of Bijapur.

Select the correct answer from the codes given below :
(a) (A) is false, but (R) is true.

(b) Both (A) and (R) are true and (R} is the correct
explanation’of (A).
(<)

(A) is truc, but (R) is false.
(d) Both (A)End (R) are true, but (R) is mot the
correct explanation of (A).
Which of the following reasons caused catastrophic

coral bleachi and mass coral deaths in the
Andaman and jicobar Islands ?

(8) Increase rof 2° C temperamre in the Indian
Ocean !
(b)

2,

34,

a5,

Increased ' industrial activities in the coastal
regions ¢

(€) Decrease of temperature by 4° C in the Indian
Ocean Vi '

(d) Heavy marine pollution 5

Consider the following statements with respect to

Ashoka : it '

1. The definition of Dhamma Eiv
taken frofd YRahulovada-sutta”.

year of his coronation, Ashoka

appoin i new type of staff. called
Dhanmarpaahanmtms.

Which of the aboye statements isfare correct 7

(a) Neither(Mor2  (b) Roth | and 2

(¢} Omly2 . . (d) Only 1

Which measures are essential to achicve Goal 4 of

the Sustainahlq Development Targets, 2030 7 >

l. Making education free and eompulsory
Improving  basic schoal infrastructure  and
embracing digijtal transformation

3. Expansion of agricultural programmes

4. lnﬂuasin'g_ipvcstment in technology

Select the correct answer from the codes given below :

(a) 1,2,3and4 (b) land?2

36.

en by Ashoka is
2

3.
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39,

40,

4.!

~{&)_1,2and 3 are comect.

With reference to Economic Growth, which of the
following statements is/are correct 7

1. Indian Economy is an Underdeveloped Economy.
2. Indian Economy is a Mixed Economy.
Select the correct answer from the codes given below :
(s} Only 3 is correct.

(c) Only 2 and 3 are correct. ' %
(d) Only 1 is correct.

List-11 shows the Rank as remittances received in the
year 2022. Mateh List-I with List-Il and choose the

3. LM. Keynes is the Father of Economics.

(b) Only | and 2 are correct.

List-1 contains the names of countries, whereas]
correct answer using the codes given below the lists :

List-I List-I1

(Country) (Rank)
A, Mexico : L. First
B. China 2. Second
C. India 3. Third
D. Philippines 4. Fourth
Codes :

A B C D
(m) 2 3 1 4
by 4 1 2 3
(e) 1 2 3 4
(dy 3 4 2 |
With reference to India, consider the following
events : P

1. Nationalisation of Banks

2.  Formation of Regional Rural Banks -

3. Adoption of villages by Bank Branches

Which of the above events can be considered gs steps
taken to achieve “financial inclusion in India™?

(a) 1,2and3 ~ (k) Only2and3

(c) Only3 (d) Only1and?2

With reference to “National Food Security Act”,

which of the following statements are correct 7

L It will cover up o 75% rural and 50% urban
Population,

2. It has special foeus on nutritional support to

wumen and children,
3. It was enforced on July 5, 2010,
Codes : ; i
{a) 1and3are correct.
() 2and3 are correct,
) 1and2are correct..
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(d) - Both (A)an

Which of the following statements are correct

regarding ICT based e-Governance 7
1. e-Governance reduces the transparency of

Government. .
e-Governance reduces the cost of Government,

2I ' -

3.  e-Govemance increases citizens input into
Government, .

4. e-Governance increases bureaucratic
red tapism,

Select the correct answer from the codes given below

(a) 2and3 (b) 2andd4

{c) 2,3and4 (d) 1,2and3

The UPSC derives its functions from which of the | .

following sources ?
1. The Constitution |

2. Parliamentary Laws %ﬁ

3. Executive Rules and Orders

4. Conventions po

Select the correct answer from codes given below :
(@) 1and3 (b) god 2

() 1,2,3and4 (d) nly 1

Which onc of the following is céifectly matched ? |

Constitutional Body f"? Constitutional

Article
(8) National Commission  — 148
for Scheduled Castes :
(b) Election Commission =~ 165
(¢) National Commission — 340
for Backward Classes i
(d) Finance Commission - 263

Identify the correct
following

chronological sequence of the
1. Shankari Prasad vs, Uuinn"flnd:ifls :

2. Sajjan Singh vs, State of Jh’lslhan
3. Golaknath vs. State of Punjab
4. Kesavananda Bharati vs. n# of Kerala

Select the correct answer from the-codes given below :
(a) 3,2,1,4 (b) k4,3, 2
(€) 3,4,2,1 (d) 19,34
Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R),
Assertion (A) : Anicle 352 of the .Indian
Constitution deals with {(he declaration of an
emergency.
Reason (R) : An eme
time.
Select the correct answer from he codes given below :
(a) (A)is false, but (R) is true .y,
(b) Both (A) and (R) are trugysbut (R) is mor the
correct explanation of (A) iy
(c) (A)is true, but (R) is falsegry o
d (R) are true ?‘iﬁ‘]ﬂ (R) is the correct

Tgency ma}.f.taku.: place at any

42,
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Consider the following statements with reference to

the Congress Socialist Party :

1. The Congress Socialist Party was formed in
January 1934,

2.  Jawaharlal Nehru formally joined this parly due
to his sympathy for socialism.

Which of the above slatcmmﬁ' isfare cormect 7
(4) Neither 1 nor2  (b)vBoth 1 and 2
€ Only2 d}r@my 1

Consider the following CVBI{T.'S and arrange them in

r.hmnulugmn.i order : o f
“ Murder of Abul Fazl %ﬁ '

2.  Death of Sheikh Mubarak y

3.  Death of Faizi

S2.

)

4.  Death of Daniyal
Select the correct answer from the codes given below :
(& 3,2,1,4 by 2,1,4,3
() 2,4,3,1 (d) 2,3,1,4
(s

Consider the following uvenli?’nnd arrange them in
:hronulug:ca] order : I"‘" y

1. Linlithgow August Offi::l"‘

2. Cripps Mission arrival i m lru:lm :

3.  Ramgarh Congress Session

4.  Resignation letters of Congress Ministers Y
Select the correct answer from the codes given heluw
(a) 4.,3,1,2 (b) 3,1,4,2

(c) 4,231 d) 1,3,4,2

Match List-I with List-Il and choose the correct
answer using the codes given below the lists -

List-1 B Lsen
fi
mﬂﬂﬂ = fo‘IvarJ
A. Hindu Polity (. 1. D.D:Kosambi
B. The Wonder That Was{"' 2. AL Basham
India o
C. Anlntroduction to the' ~ 3. K.P. Jayaswal
Study of Indian History
D.  The Early History of 4. Vincent Arthur
India Smith
Codes :
A B C D
@ L E AR
N e TRL S |
(e} 1 2 3 4
@ 3:ab g

i e O,

|| ' T a4
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56. Which of the following statements is not true about

“‘ccological niche™ 7 .

(a) Number of species becomes large in ecological
niche of natural ecosystem, if resources are
sufficient.

Dominant species occupy extensive and broader
ecological niche. ' '

Dominance of single species becomes
minimum if the resource distribution is
equitable in a habitat. '

Number of species becomes small in ecological
niche, if resources are sufficient.

(b)

{c)

(d)

Match List-I with List-Il and choose the om'rngl
answer using the codes given below the lists :

List-1 List-II
(Biosphere Reserve) {Stare)

Simlipal Kerala

Nokrek + Odisha
Agasthyamalai Assam
Meghalaya

o nrp
ol

Manas

Codes :

(a)
(b)
(c)
(d)

Mm_mb

Consider the following statements :

1.  Scientific investigation depends on commitment
 to practical ideals.

2.  Honesty is particularly important in science.

Select the correct answer from the codes given below :

{a) Both statements | and 2 are incorrect.

(b) Both statements 1 and 2 are correct,

(c) Statement 1 is correct, 2 is unpredictable.

(d) Statement 1 is correct, 2 is not correct.

Which of the following is the carrect order of pIm@
species from higher to lower order 7

(a) Order — Class — Phylum — Plant Kingdom
(b) Class — Phylum — Order — Plant Kingdom

(c) Plant Kingdom — Phylum — Class — Order
T
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@
r(b)

i
With ref erence to the ﬁntﬁt]mist operation that took
Place jp April 2024, (which of the following
Statements is/are correct IR

L It took place iﬂ’.‘: :‘?Gadchimli district of
Maharashtra.

2.  The operation was launched by BSF and
District Reserve Guards.

Select the correct answer from the codes given below :
(a) Neither inor2 (b) Only2
(c) Both1and2 f Only 1

With reference to TraVaHi” suftwn.re develaped by
ISRO, which of the fq‘ﬂ:q‘wmg statements is/are

correct 7

1. It is a path-breaking feat by Vikram Sarabhai
Space Centre, |

2. Initial aerodynamic design of space vehicles
requires evaluation of large number of

configurations,

Select the comect answer frggq the codes given helnw

(a)  Neither 1 nor 2 @)’ Only 2

(c) Both!and2

(d)) Only 1

("

; s

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : In April 2024, India delivered the
BrahMos Supersonic Cruise Missile to Philippines.
Reason (R) : The Missile has a range of
490 kilometres.

Select the correct answer from the codes given below :
(A) is false, but (R) is true.

Both (A) and (R) are true, but (R) is nof the
correct explanation of (A).

(A) is true, but (R) is false. '

Both (A) and (R) are true and (R) is the comrect

(©)
(d)

DST.F-1-23

atlher 2024 # ¥ WER-AOH STHEE F ad
Frerfrfaa 7 & S-av o e 8E 7

® IE HENIE % g foret # garm |

I 9y BSF (dhua.us,) v fefigae fom
e g R T AT |

A R e & wet Im g
@ =AITd2 ) FEer2
(€) 1#2emt (d) F=ae1

60.

wmﬁﬁﬂTm‘r’aHa"m%mﬁ

Tl & § Fr-ar@ s ad 2k

1. T% faww wnard siafey 3= 6 suft sgahy
2l

2. ofafer arer & Wil agfidi fisma & R
agt s & fomme 3 et A s e
2l

A R Ty e 7 & wel ww g

(a) Far1TEr2 (b) Fae2

__‘.(ﬂ’) | a2 =t (d) FaT1
62. < s R e &, o & w it sifire (A) @

FE T FRT (R) FEOTAE |

arferme (A) : e 2024 ¥ e 3 Reefda 1 s

gt s e vem it |

ST (R) : foreser i we st 490 fraiea ® |

=

(@ (AT R e

®) (A) @ (R) 2w E, B @), (A) T
STET TE AT |

() (A)wEE, Fg R) e R |
(A) T (R) 3 @ & ST (R), m}ﬁmﬁ
STEAT AT S |

explanation of (A).

g

e



3. Which one of the following pairs is mot correctly
matched regarding peculiarities of Ramganga

praject ? -
(a) Hydropower generation = — 198 MW
capacity
(b) Dam’slength ~  §25-8 metres
(¢) Irrigated area — 6 lac hectares
(d) Location — Garhwal
' * (Uttarakhand)

64. Consider the following statements with reference to
cultivated area of some countries of the world :

1. In comparison to USA, China and Japan, India
has highest geographical area under cultivation.

India’s location in ftropical monsoon region
helps diversified cropping all through the year.
Which of the above statements is/are correct 7,
(a) |Neither Inor2 (b) Bothland2
{c) Only2 ‘(d) 'Only1

65. Match List-] with List-Il and choose the correct

answer using the codes given below the lists :

DST.F-1-23

@ . mmﬁﬁﬁmﬁ%ﬁﬁﬂﬁﬁﬁ%m

FaPmmed g A e ?
(a) wfege TRE I - 198 S
vl
(b) atareEr - 8258
(c) fifera & :2 ~  EmE R
@ Fufe ?‘ —  TiRETE (IEs)
A

(74
oz 35 50 3t 3 R A % e # e
| ot gt farm iR :
I USA, = 3R s o e ¥ ARG T S
it g st B

}/ T A STy wa # R B 3 e wwe
ﬂaﬁlmﬁﬁﬁﬁm@mil

e & R e
vy .
1 ST 2 gt

() AA1TE2 i.“*‘f' )

}y‘%ﬁaz'

vy
ro(d) a1
g

4@ 1 7 e & i i i g A R

List-I List-I :
' , mgmuﬁr«mnﬁrmgﬁq:
(Place) (Confluencing Rivers)
A. Devprayag - 1. Alaknanda and Pindar _ eI Goin |
, : ; (FT) (et 1 4)
B. Rudraprayag 2. Alaknanda and
. Bhagirathi A :an"“ E-hﬂ'ﬂﬁﬁﬂlﬁtﬁ'ﬂﬂ
C. Kamaprayag 3. Bhagirathi and B. WA 3.} arertan st el )
. Bhi ’ . i .
ol i i hilangna | . | C. Fofwgmr :-'{i:jm'rﬂuﬁaﬂzﬁmm
. Tehr 4. . Alaknanda and %4 A .
0, D, fel . A[.Hiaaman‘twmﬁﬁﬁ
Codes : | . =z :
A
o By @ D, B ASB e m
. ;
) N S o U (R
® 41 @ 3 ® 4 1 2 3 o
o R RS SR S © 27 4.¢ 9
@ 4 1 3 2 . (d) 4 1 3 2

---------




w DST.F-1-23
66.  Consider the following days and arrange them in@ Freffas Radt « fan fifew s = ElGIGED T
chronological order : 0 syateas i . -
1. World Health Day . 1. fova e fmw :
2. National Maritime Day 9, mwﬁ-ﬂ- ;
3. World Athletics Day 3 v wafeg fag _ ,
4. World Red Cross Day ' e
Select the correct answer from the codes given below ¢ :‘I% ﬁﬁh?;
(a) 2,1,3,4 _ i mm‘iﬁz i A
®) T4.2.31 & @ 2,1,3,4
(€ 32,14 4 (b)) 4,2,3,1
d 23,41 &3 (€) 3,2,1,4 %
' i @ 2,341
67. Maich List-1 with List-Il and choose the correct ' - )
answer using the codes given below the lists - 9 ‘EEﬁ-I = ‘L_‘b"ﬂ T '@&Rﬁ wifea afx qf.-ﬁ F == e
Listl St [ TR R E IR
fAward) (Recipient) ' ﬂ‘?&'ﬂ
~A. Aryabhatta 1. ;Amitabh Bachchan ‘Fﬁgﬂ (@)
A, 2024 A SEMETTERT, 2024 | 1. SRRt
B.  World Literary 2. Mamta G. Sagar
Prize, 2024 'B. fmaferget, 2024 2. goarsh, e
C.  LataDeenanath 3. Dr, Subba Rao C. T ST T 3. & C
- Mangeshkar 4?;; - Pavuluri T, 2024
Award, 2024 " ! qTEF
D. TeEiT ggiEm TE, 4, I
D. Goldman 5o 4. AlokShukia i
Prize, 2024 ©7 LR :
Codes : e (a) 3 B 5 D
= _ i a) 3 2 4 1
y SRR - Ll ol ® 3 551 4
(a) 3 2 4 1 © 2 3 { 4
19 3y F ok @ 4 2 1 3
) 2 3 1 4 ' - :
@ &2 . 3 1@ -1 -1 & e Aife s i 3 o
p ' =TT A R we Swa
68. Match List-I with List-Il and choose the correct -1 w1
~ answer using the codes given below the lists : ffi) {i‘;}w |
. Py
| ?‘ﬁ’:“ Uy ListlD A Refma 1 ¥6an
amin) (Disease) Py )
A, Vitamin A 7% 1. Beriberi B. B 2. U
B. VitaminB ’f:] 2 Plindaess C. Fefmc 3 foew
C. ViaminC | " 3. Rickets D. fafmD 4 =t
D. Vitamin D ‘4. Scurvy ‘
Codes : _ G A W B ®
o A B C D
@ 2 1 4 3 g i ; : ":
m 4 3 2 1
TERE




69.

70.

71.

72.

et R —

DST.F-1.23

Match List-I with List-IT and choose the r:-:}n'eﬂ tﬁﬁtﬂﬁ@llﬁ@wmm = iiﬁ:ﬁéﬁ?

answer using the codes given below the lists :

List-1 List-11

{Canals) (Rivers)
A. Upper Bari Doab Canal 1. Sutlg)
B. Sirhind Canal “ 2. Yamuna
C. Gurgaon Canal 3. Sutlej, Ravi, Beas
D. Indira Gandhi Canal 4. Ravi
Codes :

A B C. D

(a) 3 2 1 4
b 4 1 3 2
@) 3 1 2 4
@ 4 1 2 3
Which one of the following pairs

(Crop — Peculiarity) is mer correctly matched ?
(a) Bihar's contribution to - 15-7%
rice production

State where rice is grovwn
three times in a year
Isohyets that decide
western limit of rice
production

State with largest area
under rice production

e

)] — West Bengal

(c) — 100 cm

(d) — Uttar Pradesh

Consider the following statements with reference to

cotton crops : e

1. Cotton is mostly a Kharif erop.

2. Cotton crop requires moderate amounts of
rainfall varying between 50 = 75 cm annually.

Which of the above statements isfare correct 7

(@) MNeitherlnor2 (b) Bothland2

() Only2 (d) Onlyl

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : Red soil denotes the second largest

soil group of India.

Reason (R) : Red soil surrounds the black soil in the

south, east and north directions.

Select the correct answer from the codes given below :

(a) (A)is false, but (R) is true,

(b) Both (A) and (R) are true and (R} is the correct
explanation of (A), E%%

(A) is true, but (R) is false, =

Both (A) and (R) are true, but (R) is mot the

(c)
(d)

)

71,

L/-r'" :ﬁqm T FE B |

_ay
AT

W@mmmmmﬂﬁ‘i
-1

(E)
gt s ST T

., |fes A6t

a1
()
L

i
HewH, T, sy

Tt

g aEi % 7

1ae Fearad § Een —
AEH

ra A aEa R A -
LHERC b SRR

mmﬁ%u&ﬁﬁmﬁiﬁamﬁmw

R m%m%mmﬁmﬁﬂﬂﬁﬂn‘r-ﬁ

72.

correct explanation ut'(A}

EXTE

e i i ST B 6 |

| srw AR mA A 0

(a) FA1TH2 | 3t 2 5H

(c) w2 @) FEF1

F=t 3t e o e &, Bl & w0 sy (A) 790

FHF FT (R) FETME |

sifermer (4) : mv@m%mma@ww

i & |

T (R) : Emwmﬁqma%?quﬁaﬂtm

famstiar g OV

13 e 2 7 2 vl s g

(@ (A)TeRE, e (R) TR

Y (ﬁﬁaﬂT{R}a’lﬁaﬁﬁmm}.{mﬁaﬁ
STEAT AT |

(c) {A]Hﬂ%ﬁ?g}naﬂ%l

) (A) 3 (R) 24w £, B (R), (A) w6

Ermrqa‘fw%l
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73.

74.

75.

76.

Which indicators are used in Human Development
Index (HDI) 7

1. Income level

2.  Education

3.  Condition of environment

4.  Life expectancy !

Select the correct answer from the codes given below -
(a) Onlyland4 (b) Only1,2and3

(c) Onlyland2 (&) Onlyl,2 aml-ld

Consider the following events and arrange them in
correct chronological order starting from the earliest
to the last activity :

1. Pradhan Mantri Gramodaya Yojana

2. Rural Employment Generation Programme

3. Prime Minister Rozgar Yojana

4. Valmiki Ambedkar Awas Yojana

Select the corrcct answer from the codes given
below :

(@) 4,2,1,3 () 2,3,4,1
(e} 3,2,1,4 d 12,34

Malthus argued that the population grows in a
progression, while agricultural production/food
supply grows in a progression.

From the following options, choose the correct
answer to fill in the blanks :

O+ DST.F-1-23

e e e () # f w5
Iyd TS E ¢
%ﬁ

73.

A SEER
. faem
//3, afaT 2 ferfy
4,  duifamsias smfrar
A g H et e
@ FA13m4 () FEwl, 233
© FEisive  _(d) Fw, 234
w

frafofas semedl w few Hfo o = udt
AR 7 =Efyg Fifv, T vedt @ S anfat
- nfafafras:

T SRS T

b P ICEE RIE T

4. SreHifEn sEE AT 9
= RumHe § ¥ wd@ IR

{a) 4,2,1,3 by 2,3, 4,1
) 3,2,1,4 @ 1,2,3,4

e 3 e fea o s Tt et 3,
wafE i enE/ET A EUTRECTiEd
frffan faeedt @ &, i sl A 9fd % o ol
s

L.
2
3.

75.

pp———— L

(a) Expnnentia_l, Linear : :
(b) Linear, Exponential (a) m,%
{c) Geometric, Arithmetic / ®) e, amigd
(d) Arithmetic, Geometric Eﬂ @Tﬁm.@ﬁ’m
d)  SERECsEniR
Match List-1 with List-Il and choose the correct
answer using the codes given below the lists : (@ @Jlﬁtﬁﬁ_ﬂﬂwmaﬂ{qﬁﬁ%ﬁﬁq
List-1 List-II T iz T AT W I g ;
(Yojana Name) 0, : ﬁ"ﬂlﬂ ;{ éﬂ"”ﬁ'ﬁ) Tl gefi-11
A. Pradhan Mantri Awas 1. May, : oy
Yojana — Gramin (3T ) (AT
B. JalJeevan Mission 2. October, 2014 A. ST ST A T 1. 63, 2016
C. Swachh Bharat 3. August, 2019 B, e siET (Mg 2. EE, 2014
- Mission — Gramin c. wwswwa fufi-Tmdor 3. ¥, 2019
D. Pradhan Mantri 4. November, 2016 D. maﬁiﬁm 4. FIEEL 2016
Ujjwala Yojana : k.
Codes : s e ~l '
A B e i A BE
@ 4 ‘3 29U 5 LS S R RS,
{¢}3412'_% 7 T I R SN
@ 1 2 3N ge 3 (d) 12 3




77

78.

79.

80.

81.

DST.F-1-23

j e 3 & A /6 7

Which of the following islare stated in the |77, s ¥ iferer  Preferrad it

Constitution of India 7 1. Wﬁmaq Rt ofr E = T E I

1. The President shall not be o member of either of HaE Wﬁf At ﬁgﬁﬂ ﬁ;a‘qﬂ:iﬁ?ﬁ |

the Houses of the Parliament. ! ﬁ'ﬂﬂ%ﬂﬁﬂﬁq:
2. The Parlianment shall consist of the President e ey g ; P
() 1#2
and both Houses. k) TG 2 ietyn

Select the correct answer from the codes given below : (c) Fael (@ Faid

{a) Onmly2 (k) Both land 2

{(c) Onlyl (d) Neither | nor2 - meﬁﬁq: o

Consider the following statements : et @i i =i i | I T

An Amendment to the Constitution of India can be R _

initiated by the : I e T BT 2. T /YT BT

1. Lok Sabha 2. Rajva Sabha . 3' B St 4, mﬁ;mm

3. State Legislatures 4.  President of India | ﬁﬁﬁ:@f&wwaﬁ?

Which of the above statements is/are correct 7 I J

| a2 M ®) 1,293

(a) land2 (b 1,2 and3 () - #y : ;

() 2,3and4 (d) Only 1 (¢) 2,3 sﬂt% () FEE %

Which of the following are the functions of the Bt 3 preffsg i a SRR sd 5o

Election Commissioner of India ? ( 79,) WA %ﬁ '

1. Conduct of elections for the posts of the Speaker | S T % were S SUTeE T Usd W %
and the Deputy Speaker of the Lok Sabha and mﬁ%ﬁ#ﬁ'{ﬁﬂh?mm1
DcputyC]mnnnnuftFeRaj}raSahha. 0 b e o ¥ s e BT ¥ R fe

2. Conduct of clections of the Municipal i
Corporations and Municipalities. ,

3. Deciding an all doubts and disputes arising out of —’/3 Wﬂ?ﬁ fafew 9 gea= ot @28l ok Rt =
the above clections. icencd! @) "

Select the correct answer from the codes given below : ﬁﬁqm{fﬁ'&% o Eﬂtﬂﬁ'!{ e

{a) land3 (b) 2and3 Wl e o I
(c) 1and2 (d) None of the above (@ 13R3 A (b) 233

© 132 O @) I Fd T
Which ome of the following is mot cormrectly ' N -
matched ?

{a) Dantwala Committee — Rural Credit (i@ Wﬁﬁmﬂﬁ“ﬂwqﬁ%?

: (a) EcETen Afufa —  myefior o
(b) G.V.E. Rao — Planning at the
Committce Block Level (b) siFiF el - sEeww oA
(c) Ashok Mehta — Panchayati Raj : P
Committee Institutions (c) IMEATEME - dewd O He
(d) Santhanam Committee — mecha}rnti Raj (d) s R S G
Finances 5

Which one of the following is mor correctly
matched 7 (

(8} Article 154 -  Executive Authority of the
Govemor i

(b) Article 153 -  Office of the Governor

(c) Aricle 156 - Term of the Governor

(d) Article 155 <~ Remaoval of the Governor

B L0
3) P e et g T 82

(@) 15

— (TR T HREHT HfH
) P - rmmEw
(€ HIWVTIS6 -~ T TR ()
L@ IS | - TR
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82,
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85.

DET.F—1-.23
: 1
Match List-l with List-Il and choose the Cﬂmt Teft-1 = gi-n & e A it gt 3 43
answer using the codes given E‘eél::-;fllhc lists : IO 3 T SR 0 e 3 ﬁﬁ'lz : fiy
A, hi::tt;;lm |, International qEt-1 -1
Development Report  Monetary Fund A mrEfaEmfod IS BE iy
B. World Economic Tfi];ut_ed Na;;::ns B. g anfis 2T 2, g
e Programme C. Pefdmfa 3 daw oe Rew e
C. World Investment 3. United Nations D. Fewel aratfdd 4. TR 3K e W g
Report Development _ T e
o T
issi 4. ations ’
D Eﬁmm Cohference on de; A B C D
and&ijhv:lnrpment E:; 3 4 1 2
Codes : 3 1 4 2
A B C D m © 2 3 a4
W caumyde L L i) @ 1t 2 3 a :
o SR i g (8 R wm R E Rt v s () T
Efl:; 5;- ' 3 ‘3‘ ; % T TEURIER(R) FEOETS |
Given below are two statements, one is labelled as arfrehu (A) @ wa e i uron Fr e o
Assertion (A) and the other as Reason (R). BRI SRt FETTT |
Assertion (A) : The concept of Sustainable THRUT (R) : Aeers fore =1 Fmm it i s i
E:velupmmt was popularised by the Brundtland ft ST R |
Re;;":"n (R) : The Brundtland Report is also known :ﬂ%ﬁqw?ﬁﬁﬁnﬁmgﬂq;
as]“ “tﬁ Limits to Gmm#:. 5 o (2) (A) T, g (R) TR
. Select the correct answer from the codes given below : S
@ (A)is falsebut ® istre. O (b) mﬂf‘ﬂ & B (R), (A) B wd
(b) Both (A) and (R) are truepbut (R) is not the 4
2 E:m)‘rect cxpllima&u? ui;n (114.]. p) © @ F® ‘ﬂﬂﬁfalm o
" e A) is true, but is false, ; R). (A
& Both (A) and () ar tue 2BA(R) is the correct| D w%?ﬁm R), (4)
explanation o i [
The following lists I and II the names of ﬁqﬁh?@mlmnm@ﬁmﬁ%maﬁ
Economists/Authors and their books respectively. TR QI @l A ST § | gE-l g
Match List-1 with List-Il and chuoserthn: correct gﬁfﬁaiﬁﬁq ﬁ{;ﬁ%ﬂﬁﬂ; ﬁﬁﬁ.ﬂﬁﬁwmﬂﬁ
answer using the codes given below the lists : Hﬁﬁﬁﬁﬁ
List-1 o En—g a1 —
conomist/Authar oo 5
f Myrdal. 1. Economic Theory and (el s (JF)
' SR eTEopes S A w1 e i e st o
B. Hirschman 2. The Strategy of Economic _ B e e i i
_ Development ¥ T it
C. Kaldor 3. Strategic Factors in C. FFst 3. éﬁﬁ_ﬁaﬁﬁsﬁﬂﬁm%ﬂﬁﬁz
EconomigjDevelopment D. wEH oy 4. T390y A6 AT
D. Adam Smith 4. The Wealthiof Natons e
A“C.“ﬁ & 23 1 4
(a)2314m & 1 .2 3 4
&)133“{.\! © 2 1 3 4
{clllij (5132%:;@_%“
@ 3 2 : 1 # A SAGEAT o AT
Write in descending order the following States on the | 85. %ﬁmwﬂﬂmﬁmr
basis of their population as per Census, 2011 i R
1. Bihar : 2. Andhra Pradesh 1. s
3, Uttar Pradesh 4. West Bengal \ 3 I 9E A, |
Choose the correct answer with the help of the farferfier 2 <t SreTE & 7T e I gAY
following codes ;. (@ 1,3,2,4 <(b) 3,412
(ﬂ) lr 3: 214 ¥ : {h} L 31 4' 1"2 '}G] 3| 1!412 ﬁ{d} ]-yjsi':_z—__“ Loy
(&) 3;1,4,2 ' “th(d)IEL, 34-2*2 TieRietsass
TR e T v 2 &



B7.

89.

According to the Economic Survey, 2022 — 23, what @
id the Government of India .

undertake in response to the aggravated global supply

fiscal policy response d

disruptions 7
1. Decreasing food and fertiliser

2 Im_::rcasing taxes on fuel and imported products
3. Reducing taxes on fuel and certain imported

products

Select the correct answer from the codes gi
(a) Only2 () Only3

None of the above (9‘
choose the correct

(c) Onlyl (d)
Match List-] with List-II and
answer using the codes given bel
List-I
(Social Security
Programme)
A. Pradhan Mantri Shram 1.
Yogi Maan-Dhan Yojana
B. Pradhan Mantri Jeevan 2.
Jyoti Bima Yojana
C. Pradhan Mantri Suraksha 3.
Bima Yojana
D. Atal Pension Yojana
Codes : i
A

4.

() 2
k) 2
3

D
3
1
(e) 4
d 1

B b W S

4

statements, one is labelled as

subsidies
ven below @

pw the lists
List-IT
(Beneficiary’s
Contribution)
Beneficiary’s
choice .
£55-T200
per month
T 436 per year

¥ 20 per year

e

Given below are two
other as Reason (R)- 88.

Assertion (A) and the

Assertion (A) * Development
improving living
Reason (R) : G
sufficient measure 0
Select the correct answer
below : '

(a) (A)is false, but (R) is true.
(b) Both (A) and (R) are true

explanation of (A)

(€ (A) is true, but (R) is false.

) 1
correct explanation of (A).

below @
1. Integrated Rural Developm

9. Swamjay
National Rural Empl

30
4. Pradhan Mantri Jan-Dhan Yojana
Codes :
(@ 341 2 ® L23 4
@) 2341 e
) L 23 -

© 432

standards and welfare.
rowth in per capita incom

f development.
from the codes given

and (R) is the correct

Both (A) and (R) are rue,
chemes launched by th:p@

anti Gram SwaroZgar Yojana
oyment Guarantee Act

is being defined as

gisnota

but (R) is nof the

ent Programme

ey

DSTF-1.23

e e, 2022 -23 % . wa A
mmﬁ#mﬁwmgaﬂqmmﬂ
i whafrar 9T ? m
L e si e afeael § wH

o S afi AT STl TR S

Q;i% iﬂ?aﬁr@ﬁaﬂlﬁfﬁaﬂﬁmmmm
ﬁmﬂ@ﬁ%aﬁmgﬁg:ﬁa

(a) EE2 (b) 3
(c) w1 (d) Fuga i AT

-

< 411 & gAvir R T g 1 fag

Wiﬁw-mﬂﬂﬁmﬁﬁt{:

A. m’ﬁﬂ’rmﬁhﬁm-m L.
e

' 81}

i
(TR G FTAA) SLiED

T55-T200

B. e Sftae s oA 2.
e yfer ATE
{ i  g43gwfaad

D. a7 Sy e 4. w209f e
ﬁ'z:

Al B €D
@ 2. 4 1 3
@) gs,. 3 4 ]
@ @i 2 1 48 c
&) oy, 28 4 %
ﬁﬁfﬁmﬁqﬂqtﬁﬂﬁﬁﬁaﬁmﬁﬁmmﬂm

@’caﬂmmaﬁﬂw%l ;
srfrma (A) :mﬁmmmwﬁqm

i&imﬁqﬁwﬁﬂmwﬁt
foprg Y TATH A

AT

(®) : ufr =afs s F T

B L CALLEAA U E

(a)
(b

(d)

(AT, R)EHE |
(A) T (R?gﬁuﬁ% 3 (R), (A) %I @l

(
Bl it
(A)WEIT, e R |
'!EA)W(R} Hﬂ%,@m},m}ﬁmﬂ
;@mwﬁm%l
sl @

e W TR ST R
mﬁﬁmwwaﬂrﬁmw@ﬁﬂﬂﬁ
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0. What does the term “Cereal Yield” refer to ?
1. The amount of cereal crops prll:bdur.ed per unit area

of harvested land +
2. The total production of cereal erops in a given

country
Select the comrect nnswer ﬁ‘um the codes given ’ﬂeluw

(a) Neither I nor2 (b) Both1 and?2
() Only2 (d) Only '15

91.  Which of the following statements Is true regarding
the trend of unemployment rate ln-l'[nllilﬂ between
July-September, 2019 and July-Septémhat, 2022 9
1. Ttremained the same. !_____
2, Xt declimed ‘3-
Select the correct answer from the r.:ndr:s given below -
(a) Both | and 2 are false. i
(b) 2istrueand 1 is false.
(c) Both 1 and 2 are true, |
(d) 1 istrue and 2 is false.

92.  Who prepares/publishes the Global Multidimensional

90, ‘NI R R e
L = 8 ofr % uft 3o d & senfem amy
e F AT

AR h e TR S —
’ﬂ%ﬁﬁﬂﬁ@ﬁﬂﬂﬁmﬂﬁq: ”

(8) FAr17d2 (b) 13 23MT
AG  Fam2 @ 1

i Wﬁ‘““‘“’ﬁ 2019 3k emd-Revar, 2022 % o

T i

AD 2u@td et e
() 13m2iiad g
(d) 1e@tt 2Ty

%ﬁ

Poverty Index (MPT) report ? A TR T
1. World Bank and [nternational Monetary Fund = mmﬂﬁ? (o) Redd 7
(IMF) k2
2 fﬂwxqurd Poverty and World Heall; Organisaton A s S st g i ()
0) 2. Sirrnts et 3 e ware v (g an,)
3. Oxford Poverty and Hm:nnn *DEVE[EI ment
Initiative (OPHI) , P 3. mmwwﬁmm(ﬁﬁqﬂaﬁy
‘4, United Nations Develnpmnm» ngmnune LA Hﬂﬁwﬁmm@mﬁm
(UNDP) AT ey g dwftawcafn,
g:::t::the correct unswcr from the codes given (a) Faw4 b)) 234
(a) Only4 (b) 2and4 CHE - (e) 334 _Ad) 1#R4
o) % Band 4 (@) land4 @ T TR R WO i v R A &
93. Arrange the following schemes launched by the Wﬁm@'ﬂﬁﬁqﬁ?ﬁﬁqm@ﬁﬁaﬁ
Government of ‘India in chronological order and IR :
choose the correct answer from the codes given 1 g I fage
below : Lo e 2. WEwE e R g
2,[*' gwﬂdﬁi ﬂlﬂﬂt PIZT;SSIEHI ;:1 3. WO T S dee
A ra antri Kaushal Vikas Yojana ' Tt afEer
" "'3. Pradhan Mantri Garib Kalyan Yojana ' s 2 i
. 4. Pradhan Mantri Mah:la Shakti Kau.dra Scheme b
¢ - Codesis . i (a) 4,2,1,3 () 2,1,4,3
(@ 4,2,1,3 [h} 2, 1,4, 3 () 3,1,2,4 @ 1,234 )
[l.‘-}_ 3,1,2,4 (d) 1,234 J@ reEy iy @Egﬁ} IEaT O = 5 gag ¥
94.  What does the Intergovernmental Panel on Climate feEda Tt siat-wrEnt der (s o« i)
Change (IPCC) emphasize regarding reductions in B

greenhouse gas (GHG) emission ?
I. Gradual and limited reductions are enough.

2. Deep, rapid and sustained reductions are essential,

Select the correct answer from the codes given below :
(a) Neither 1 nor2 (b) Both | and 2

1. i i e wad wain § |
2. e, ft o P w0 smamE £

() Only2 i __(d) Only1

e TEERASrLL s smsae e

*

247

i e e e # & W I g
(a) TaAr1ad2 |_’b) | 32 gt



‘

k!
¥ qé;, DSTE.q.
05. Which of the following is the correct sequence ud@ PR & & HA-1 SEF g 6 g 23
phases of Biotic succession ? L & b
(a) Ecesis— Migration — Stabilisation — Reaction (a) ST — a‘E{F — Reurfirror — wfefeay
(b) Ecesis— Migration — Reaction — Stabilisation ) TR — ST — SRR — Rl
(¢) Migration — Ecesis — Reaction — Stabilisation (c) —WETH — JEATIH - wfafera — fearfrrm
(d) Migration — Reaction — Stabilisation — Ecesis (d) wETE- whafer — feadror - emears
96. Given below are two statements, one is labelled as 96. 2 et e e &, R F T T AT (A) 7y
Assertion (A) and the other as Reason (R). Tt 1 T (R) el T g1 )
Assertion (A) : Relative humidity decreases with AFIHUT (A) =mﬁ$m?ﬂﬁ%m‘rﬁ'ﬁ%
increasing air temperature. ' Tt F“' i
Reason (R) : Absolute humidity increases with T (R) + Tt ¥ 9f % arer e s d o
increasing evaporation. ; =l it FE;
Select the correct answer from the codes given below : = ﬁl?:n'l;{@ﬁ q L ERLSGLE
(a) (A)is false, but (R) is true. ,(ﬂf (A) W%{%ﬂ R)HEE
() Both (A) and (R) arc true, but (R) is not the () (A) 3 ) 2 W & B (R), (4) A ER
correct explanation of (A). TEAT 7 HA |
© (A)is true, but (R) is false. T (© A ‘iﬁ g ®) Wgt:h e
(d) Both (A) and (R) are true and (R) is the correct ) @A) Eg%ﬁ el (R), (A)
explanation of (A). ' ' : o '
' ®
- (57 Pt 4t g et e 87 5
97. Which one of the following is correctly matched 7 @ i i __} ! -
li —  Sea water densi ; ; S
(a) Pycnn-rc ine ea . a er. ensity &) e 00 S PR
(b) Ecocline —  Biodiversity | Fey
(c) Halocline — /Sea water temperature B (ORLSLL E:j T ST ATTH
(d) Thermocline —— Air temperature || @ G : = SRR
08, Match Listl with List-Il and choose the cnmc{fﬁ). Telt-1 -1 3 At i i gt % i R
answer using the codes given below the lists : I 2 T AT T HeEl I A
List-I List-IT el eI
A. Planting Hearth I, Hungary . A. deravr o 1. d
B.- Cryophyte Steppe 2. Adolf Engler . B. mEEe @2t 2. USfEH TR
C. World Floral Regions ' 3. C.O. Sauer C. forgar ¥ qodir 3. el w
D. Puszta Grassland 4. Arctic Tundra D, et = A 4, sdEwEm




&

99.  The content of cumpup:r memory  which is
non-volatile, even when thufpﬂwcr goes off is

(a) ROM (b REM
(c) RAM (d)""'None of the above
£

DST.F-1-2:

99, Wﬁﬂﬂﬂﬂﬁmm%ﬁﬁ?ﬁwm

2 sft srfEd i war g ?
__fa) ROM (b) REM
") RAM (d) ITfw IR

(" - a0 :
100. Which of the following is a correct relationship @ et & P-ar SEEEs {“F}ﬁﬂl’ﬂﬁ-ﬂw °c

between Fahrenheit (°F) and Celsius (°C) degrees 7

(@ °C=°F-27315 (b)) '°C=°F+32

(¢) °F=°C-27315 (d) °F=%""(‘_,‘+32

101. Which following - statements is not
true 7 f:i

(a) Nucleus of a cell dues /oot pla:,r a rule. in cellular
reproduction, f;: i

(b) Chromosomes are mn:ipnsed nf DNA and
Protein. : 3

(c) Functional segment of DNA is called genes.

(d) ' Chromosomes  contain
inheritance. f e

of the

information  for

102. Given below are two statements, one is” labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : Cﬁz 50, and NE12 gases get
dissolved in rain water and prcrdus}e acid rain,

Reason (R) : Atmospheric au: is'polluted due to high
concentration of‘ gases I.lkciux:nrbﬂu diexide, sulphur

Select the correct answer ﬁmﬁw e codes given he]uw
(a) (A)is false, but (R) is trut
(b) Both (A) and (R) are true and (R). is the correct
explanation of (A),
(€) (A)is true, but (R) is false.
'(d) Both (A) and'(R) are true, but (R) is not the
correct explanation of (A).

103, Which one of the following groups have only input
devices ?

(@) Mouse, Keyboard, Projector
(b) Mouse, Keyboard, Printer -

fenft 3 sty ot s gmfen 8 2

(@) °C=°F—273-15 (b) “c=§-°1=+32

ofe) SF=°C-27315 (d) °F=?j—°c+32

101, PR Ao sa et 7@ ?

(a) ol wifivenT =1 Feaen iR ey 1
v el

() FEEFREL T TARNE
() T i Faters v S AT FRd £
(d) seTE Hatedi % fore geand W €1

102, A3 3 Forr fog e &, it & v # AR (A) 7

ZHL 1 FOT (R) FETTATE |
ATUHUT (A) : CO,, SO, 3 NO, ¥ anf w1 # 7
el & S ot et I et 5 |

T (R) ; Fle- SEATFEEE, ToH SRS 30
ML & siEergs It {9 f 359 wizar F w0

EIRCERRE LR CiRnGikd
A R e e 3 & Wt 3w g
{} (A) TreTa €, g (R) T R
) (A)aﬂttkjﬁaﬁﬁaﬂtm} (A) i
)

TG FaT & |
(A) W e, g R) T B

@ (&) 3 R) I wd B (R), (A) B

ST TET AT © |

103. Fr=fefad sl § & fredt Fae arm svwor (@9
fEamm) € ¢
(a) wE, Hi-aE, WeE
(b) T, A, et
Ac) W, F-aE, T S

() Mouse, Keyboard, Scanner %
..{). Mouse, Keyboard, Monitor '

S

' (d) mﬁ-a‘ra‘ m-ﬁzt



105.

106.

107,

Consider the following statements with reference to

carly trade :

I. There are referénces of numerous river-ports in
ancient India.

2. There were large entrepots of goods nnd traffic.
Which of the above statements is/are correct ?

{a) Neither 1 nor2 (b) Both 1 and2

{c) Only2 {d) Onlyl

Arrange the following Sen rulers of Bengal in
ascending chronological order :

1. Ballal Sen
2. Lakshman Sen

3. Hemant Sen

i

4. Vijaya Sen

Select the correct answer from the codes given below !
(a) 2,1,4,3 (B 4,3,2,1

{c) 3,4,1,2 (d) 1,2,3,4

Consider the following statements with reference to

Bairam Khan :

1.  Akbar gave the title of Khan-i-Khana to Bairam
Khan.

2.  This title was not given at the time of
appointment of Bairam Khan as Vazir of
Empire.

Which of the above statements is/are correct ?

(a) Neither Inor2  (b) Both1and2

(c) Only2 {(d) Onlyl

Consider the following Peshwas and arrange them in
ascending chronological order ;

1. Raghunath Rao (Raghoba)

2. Balaji Baji Rao

3. Narayan Rao .

4.  Balaji Vishwanath

Select the correct answer from the codes given
below :

(@) 3,412 ) 4,2,3,1

€ 1354 g 3 e T 2

- e e

w 2?’*

104,

105.

106.

107.

{a)

—

DSTF.q.04
e =R % wed d Pl s o Sy
=i
1. sl e g A W firry
2. FetEmE S g & W e

mﬂ?ﬁﬁﬂaﬂwmﬁmw%ﬁ?
(a) AALIAT2 r(b:. 1 31 2 37
(c) a2 ct;d] Faer 1

W#ﬁmﬁ&amﬁﬁaﬁmm
ﬂﬂﬁmﬁm:

1. eeme H@A
2,  wEAMEA _
3. wHEEd %
4. TEmEa
ﬂ%mw?ﬁ%aﬁaﬂégﬁq:
(@ 2,1,4,3 ﬁ} 4,3,2,1
(©) 3,4,1,2 ofd) 1,2,3,4

: (&b

o

oy a3 wead & Prefera st v v fifi

. e Ay al wEE-ETE i I

2. UE I WIHET % g6 % ®9 § oW @ o
Frgfen 3w et &t g |

I H & - T w5 a7

Far19d2 (b) 1 3fr2EEt

(c) a2 Ug]d) Faer |

ﬁﬂfﬁ@amﬂ(ﬁwaﬁ&qmﬁm

Wmﬁuﬁﬁﬁm

I. Tgﬂwﬂﬂ(“‘ﬂ'ﬂn

2. TSt =Ll ag

3. ARETE

4. =t g
ﬁmmﬁﬁ%lﬁﬁmﬁﬁﬁ:

(a) 3,4,1,2 ®) 4,231
(9 1,3,2,4 (d 1,2,3,4

B L DS L



108,

109,

110.

————

Match List-I with List-Il and cho-::eac_ the correct
answer using the codes given below the lists ;

List-I List-11

(Essayist) (Treatise)
A. Devana Bhatta I. . Dan Sagar
B. Hemadri 2.. Parashar Madhav
C. Madhvacharya 3. Chaturvarga

Chintamani

1%, Smriti Chandrika
i
'y

D. Ballal Sen
Codes :
A

G-
(a) 2 '-.ﬁ*j?'
(b)
(c)

(d)

%ﬁ

W B b =
b W s e

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R),

P I 4 5 Galll .
Assertion m}. : Tugh,ph Invasion on ]ndl.la was
successful. | (v

Reason (R) : There

Wwas no political unity in North
I i g’.l'*L

. . e v E%'-ﬂ]
Select the correct answﬁ"‘ﬁ'mn the codes given below :
(@) (A)is false, but (R) is true.

(b) Both (A) and (R) arc trie and (R) is the correct
explanation of (A). -

(A) is true, but (R) is false,

Both (A) and (R) are true, but (R) is nmot the
correct explanation of (A), :

(€)
(d)

: I2FY
Consider the following statementg regarding Voice of
Global South Summit (VOGSS) :

I India recently h”ﬂludml its znd.Vuice of
Global South Sugipon?in

2. The term Global  Shy

1 th is related to developed
countries, it i

Which of the above statements is/are correct 7
(a) Neither 1 nor 2

(b) Only2

(c) Both1and?2 .

(d) Only 1

109,

110.

TR T AR S —

()

DST.F-1-23

108, gelt-1 = qpft-11 & g A i F 03
: Ew*@'wﬁﬂ"““ﬁwiﬁm

11

(=)
CERe I T
I HIEE
EGEURERIL IR
wfer =fzamr

GRig!

(FeT)
A, TR L
B. i 2.
C. HreEm 3
D. e 8 4

T .
(@)

(€)
(d)

Wk R =
B W e o B
-—M'-'Mﬁ.
o= W oW

A2 Fr s e &, Rt & o B st (A) m
T FHR (R) FEI IR |

it (A) : T T T TSRV Gt 53T |
RO (R) : TeR W T+ wahmm 7t oft | %
ﬂ%ﬂqwﬁﬂ‘ﬁﬂﬁmﬁﬁq: :
@ (A)TEE, TR e

(b) (A) T (R) T | § 3fit (R), (A) &t ot
T FETE |

(W) FE, g ) e 2|

(A) 71 (R) 91 7t €, ey (R), (A) Y w6
T TR A |

(c)
(d)

g S Tl Ty wiie (. sist wam,) 3 by
7 frefeiits Feet o fan it

L a3 w # S gw diew o Wi
A e wer g |

2. Teitee w1SY qeaa: ety 30t & defe 2|
I T B T T R o
(8) TAT1TE2

(b) FaE2
(¢) 13M23MT




111.

112.

113.

114.

B

Which one of the following pairs (Aluminium |11y, Frefofar o .@ﬁﬁﬁa‘fﬁ?—ﬂ:}m?h
Plant — State) is mor correctly matched 7 Eﬂ?—mﬂﬁ@%ﬁ#i ? i
(@) Belagavi - Karnataka (a) et - e

(b) Alupuram (Alwaye) - Kerala (b) I (D), - F@

(¢) Hirakud — Odisha () #upE - St

(d) Muri ~ Chhattisgarh @ 7 - g

Which of the following pairs (National Park —
State/Union Territory) is met correctly matched ?

(a) PinValley - Jammuand Kashmir
(b) Rajaji —  Uttarakhand

(¢) Simlipal ~ Odisha

(d) Bandipur — Kamataka

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : The Himalayas are still rising.

Reason (R) : The Indian tectonic plate is colliding

with the Eurasian plate.

Select the correct answer from the codes given below :

(a) (A)is false, but (R) is true,

(b) Both (A) and (R) are true, but (R) is not the
correct cxplanation of (A).

{A) is true, but (R} is false.
Both (A) and (R) are true and (R) is the correct

explanation of (A).

(c)
(d)

Match List-1 with List-Il and choose the correct|qy,

answer using the codes given below the lists :

List-I List-11 %
{Coal Resources) {States)
A. Hutar 1. Madhya Pradesh
B. IbRiver 2. Chhattisgarh
. Tatapani — Ramkola 3. Odisha
. Umaria 4, Jharkhand
Codes :
A B C D
a) 2 1 3 4
by 3 2 4 1
e 4 2 3 1

112,

113.

Freferflaa gﬁ(ﬂﬁ&%ﬂﬁ ~ TSH/ER-TT dm) & §
Htg-a e gl TE 2 ?

@ Frdet oo s

(b) Tt N!satraa

(¢ fRmefme - sifEEm

(d) =R — FAleH

3 & o Ry g &, Rt & e 1 Ao (A) T
ZE Y FHTOT (R) FT T | o

sifermper (A) : fewrera anft s ST w2 |

T (R) : mﬁﬁﬂiaﬂﬁﬁ@?@ﬁmﬂz#ﬁmﬁ
£

q‘i‘%ﬁqﬂqfeﬁﬁﬂﬁ‘l‘mgﬁq

(@ (A)TEEE, REER) @ E
(b) fA}aﬂtm}ﬂﬁuﬁr% R (R), (A) 1 &6
. ST TE AT | o
(@ (AT FgERTEae ey
(@ (A) 3 (R) 3 T T @ (R), {A;aﬁraa'r
ST T © |
wft-1 3 - 9 gEfe Hif il gt & e
TV, Tz 2T ST WE I G :
'!ﬁef-] : ) @-ﬂ
(T HER) (V) =)
A, EW g 1. HETWAW
B. ¥ oy 20 SR
C. eIt — 3. aifEmm
D. Ffar 4. wwEs
T
A B C ‘D
(a)y 2 1 k] 4
(b) 3 2 4 1
(e} 4 2 3 1
{l_j}_ _‘E__. 3 ‘?“ 1 Iy =



L

-

rrmas

115.

116.

117.

. Committee, with the Prime 1
"and consisting, among uthe

Match List-1 with List-Il m:ld choose the correct
answer using the codes given below the lists :

List-1 L | List-11 Eg%
A. Cooperative Federalism 1. K.C. Wheare ®
B. Bargaining Federalism - 2. Ivor Jennings
C. Quasi Federalism . 3. Morris-Jones
D. Federalism with 4, Gmnvilleﬁustin
Centralising Tendency,
Codes : J*
/ATTB - fCY D] '
@ 2 1 43
® 2 seser@e LT G6F
€@ 3 2,4 13 "
@ 4 3 1 Eii

Which one of the fuI!n is m:r a ]ml in the
three-tier Panchayati Raj Ugommended by Balwant
Rai Mehta Committee 7  {¥1’
(a)  Gram Panchayat f"ﬁj |
(b) Panchayat Samiti :

(c) = Nyaya Panchayat

(d) Zilla Panchayat |

According to the Lokpal and. Lokayuktas Act, 2013 |

the Lokpal would be appointed by the President after
obtaining the recommendations- of a Selection
inister as chairperson
f the following :

©. 1. Chief Justice of India p;rr} Supreme Court Judge

118.

1 nominated by him rﬂi
2. .. Chairman of the Rajydﬁ}lbhn
3.  Speakerof the Lok Sabhh -

115.

116,

117.

DST.F-1.23

.1[&1\75&%“%?{@?@'3%@&‘{

1 &I
e g
et o

A, wEET €EEE

F1151
;

W SAfabEE, 2013 % SRR
mﬁmﬁwnﬁrﬁﬁ
& =g $ir swft, s sy e
qﬂﬁiﬂwﬁaﬁmﬁﬁrﬁ%m,ﬁﬂﬁ#ﬂ
TR BT ¢
. 9 % qeT AETiT A I g A
Feean AT 1 IS AT
2. TSI & At
3. TR T e

4. Leader of Opposition in fhe Lok Sabha 4 o o i fge et %
' Select the carrect answer from (he codes given below : ﬂ%ﬁﬁfﬂlﬁﬁﬂaﬁmiﬁ!'
() 2,3and4 () 1,2and3 | @ 2,34 g
() 1,3 and4 (@ 1,2,3and4 © 1’331‘\:4 :d; '1"233“”
ﬁ:;ﬂuﬂ::um‘:‘mm‘“m“ with * their year of| )5 v e av i F At e AR
A. 42" Amendment . 1. 1985 A, 4oateEinm l. 1985
B. 52" Amendment 2, 2011 B. 5231w 2. 2011
C. 86" Amendment {13, 1976 C. . 86al gua 3. 1976
D. 96" Amendment ()4, 2002 D. 96at sy 4. 2002
Select the correct answer ﬁ'{.‘ﬂl}h& codes given below : a’rﬁ'ﬁquﬁ%qﬂmgﬁq
A B C D A C D
@ 4 3 2 f*";i : @@ 4 3 o ‘5
(T (R - ; ® 2 1 3 4
€ 3 1 4 2 © 3 1 4 2
L S TN e @ 1 3 4
. = 30 = B e



g

119,

120.

111.

" following statements isfare correct 7

122,

‘2. This three-day conclave was organised by the

With reference to ‘““Nepal —India International
Sanskrit Conclave —2024"", which of the following
statements is/are correct 7

1. It was held at New Delhi.

Niti Anusandhan Pratisthan.

Select the correct answer from the codes given below :

(a) WNeither 1 nor 2 (b) Only2
(c) Both!and2 {(d) Only1
With reference to *‘Lunar Polar Exploration
Mission'' (LUPEX), which of the following

statements is/are correct 7
1. This is an India— Japan partnership for their
joint moon mission which shall be Inunchﬂ:d in

the future.

2. JAXA is responsible for developing the lander
for. the mission, while ISRO is handling the
rover and launch vehicle.

Select the correct answer from the codes given below :
(a) Meither 1 nor2 (b) Only2
(c) Bothland2 (d) Only 1l

“Guidelines for Elimination of
(GECP), which of the

With reference to
Corporal Punishment’”’

1. The Tamil Nadu School Education Department
issued these guidelines on 26™ April, 2024.

2. These guidelines are focussed on safeguarding
the physical and mental well-being of students.

Sclect the correct answer from the codes éiw:u below :
(a} WNeither lnor2  (b) Only2. iy

{¢) Bothland2 {d)  Only1

With reference to *“FLY91"" which of the following
statemenls is/are correct 7

1. Itis a newly launched airline in India.

2, Its inaugural flight took off from Manohar
International Airport on 18 March, 2024.

Select the correct answer from the codes given belaw :
fa) Meither | nor 2 (b) Only2

119,

120,

121.

122.

{c) Both l'and 2 {d} Only1

“31°

9 Iaﬂrzﬁa"ﬁﬁ

DST.F-1-223
darer_ T Sl e @O - 2024 &
Wﬁﬁnﬁmﬁﬁwmﬂmﬂﬁ%?

1w Rt f o e T AT

3 w#wgﬁmﬂﬁmﬂmﬁmm
spraifere Fram mar 97 |

fpr g v e e I AT

@) #ﬁrlzﬂ"i’fﬂ (b) 2

4 1372 Ij (d) e |

e d g (W) & wf |

ﬁm%maﬁamm@wwﬁ?

I e R - S ¥ o e = e
vty &, it siferey & eiter T ST |

2 JAXA fem % R et fefe #0 F
frdirare 2. wafs ISRO Tat I i aw®a &
HHEEIR |

A2 e F A IwIhT:

(a) qainmgi‘-i (b) FEE2

(@) F=1

weqmififeer 28 %mﬁmﬁﬁrfﬁsm}%m

i Frforfra § B -mrﬁwﬁ%ﬁ?

1. 2ﬁaﬁﬁ,2pz4aﬁaﬁaﬂ1§qaﬁmﬁ1mﬁ
[EEISEERE el

2, ﬁﬁmﬁiﬂmﬁ%m&ﬁaﬂrmﬁﬁﬁﬁw
<t e T

it faw e e # & wd s

(a) wa’naa’fz (b) Ee 2

(c) (d) Fae |

AT T ﬁf"ﬁ?
| e s i 9 o e R
2. TEH usell SsW 18 Wi, 2024 W R
sfuiefia eard sgd A e gk |
e for T o F W IR
() FariT®2 (b) Faer2
() 13fT2EHt (d) el

o sasssssss ————ssssEmmEEEm e



124,

125,

126.

127.

128,

129,

130,
(@

131.

132.

The only vein that carries oxygenated blood is :

(@) Cystic vein (b) Pulmonary vein

(¢) Hepatic Portal vein (d) Cardiac vein
Diabetes is the most common disorder associated
with :

(1)  Gall bladder

¢7i®) Kidney
() Pancreas

(¥ d) Liver
08

The recent global pausgduring COVID-19 pandemic
was caused due to :

(@) HSNI ~(® SARS—CoV-1
(©) MERS-CoV-2 (d) SARS-Cov-2

Milk is an example of : © -

(a) Sol (b) Foam
(¢) Emulsion (d) Aerosol
The formula of baking soda is :

" (@) Na,CO4 - (b) KHCO,
(€) NaHCO, Ofd) K;C0,
CPR stands for : m
(2) Cardia¢ Pulsatile(®Bvision
(b) Cardio Pro scue

(e) Cardiopulmonary-Revision

(d) Cardiopulmonary Resuscitation %
A bus covers the first half of a certain distance with
speed v, and the second half with a speed v,. The
average speed during the whole journey is :

{a] 1?1 "l"z ViV,

(b)
: "4|'1+'§"1 : "q"|+1"1

(©)

o5 o) Vit v,

Rea Z :
Plants and animals that.lite on land are called :
Aquatic habitantgry

Abiotic e

Biotic r?'l

Terrestrial habitants

(b)
(©)
(d)

The joint where the neck joins the head is ;
(a) Saddle joint

(b) Pivotal joint
() Ball and socket joint

(d)' Hinge joint
The disease-causing mic:ﬁmganism among these is ;
(a) Pathogens + (b) Archaea

(c) Protozoa (d) Bacteria

123.

124.

125.

126.

127.

128.

129,

130.

131.

132,
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134.

135.

136.

Who among the following won the best actress award
in the Un Certain Regard category of the Cannes
Film Festival, 2024 7

(a) Anasuya Sengupla

(b) Kiara Advani

(c) Sobhita Dhulipala

(d) Urvashi Rautela

With reference to RudraM-IT Missile, which of the
following statements is/are correct 7

1.  Itis an air-to-air missile.

2,  Itwas tested in Rajasthan in May 2024,

Select the correct answer using the codes given below :
(a) Neitherlnor2  (b) Only2.

(c) Bothland2 (d) Only1

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :

List-1 List-11
{Newly Elected Head {Country)
of the State)
A. Gitanas Nauseda 1. Iceland
B. Luong Cuong 2, Vietnam
C. Halla Tomasdottir 3.  Lithuania
D. Jose Raul Mulino 4. Panama
Codes :
A B C D
fa) 3 1 2 4
)y 4 1 2 3
e 2 1 3 4 . %
4 3 2 1 - [

What is R21/Matrix-M™T™ ?

(a) Vaccine against Malaria developed by Bharat
Biotech International

Vaccine against Malaria developed by Serum
Institute of India

Vaccine against AIDS developed by Bharat
Biotech International

Vaccine against AIDS developed by Serum

(®)
(c)

@

133,

134.

135,

136.

Institute of India
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137,

138,

139,

Consider the following events end arrange them in
chronological order :

l.  World Heritage Day %%
2. World Thyroid Day '
3. World No Tobacco Day
4,  International Day of Light

Select the correct andwer from the codes given below :
("

(8) 1,4,2,3 ® 3,1,2,4
(© 42,31 O @& 2,314
r'l"‘i-
Match List-I with’ List-Il and choose the correct
answer using the given below the lists
List-1 List-I1
(Person) ' (Reason)
A, Gopi 1. First Indian Gymnast to win
Thotalura - Gold at Asian Championship
B. Dipa 2. Indian born NASA scientist
Karmakar who led the team to study
. solar ecliptic impact on
: £ ionosphere
C. Arch 31-*,-.'1" irst Indian Space Tourist
Barjatya Co
D. DevPatel 4 British actor who made his
. directorial debut with thriller
onkey Man"
Codes : . L
A B C D
{a) 3 1 2 4
b 4 1 2 3
€ 2 | i 4
@ 3 2 1 4
Given below are tWo statements, one is labelled as

Assertion (A) and tﬁ?ﬂther as Reason (R),

Assertion (A) 'ryDuring 2023 - 24, Singapore
emerged as the largest source of FDI to India.
Reason (R) : Thrﬁndiu — Mauritius Tax Treaty

amendment has brought a major shift in countries as
major sources of FDI to India.

Select the correct answer from the codes given below :
(a) (A) is false, but (R) is true,

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(A) is true, but (R) is false.

Both (A) and (R) are true and (R) is the correct
explanation of (A).

B e T

(c)
(d)

) r‘i'adi
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140-

141.

142,

with reference to “India— Australia Economic

Co-operation and Trade Agreement (Ind-— Aus

ECTA)," which of the following statements is/are

correct 7

1.  This is a first-of-its-kind initiative of FTAs.

2. The meeting was attended by the Commerce
Secretary of India, Shri Sunil Barthwal.

Select the correct answer using the codes given below :

(a) MNeitherInor2 (b) Only2

() Bothland2 (d) Only1

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :

List-1 List-11
{Jaint Exercise) (Dates)

A, India— Uzbekistan Joint 1. Febroary
Military Exercise, 19-27,
“DUSTLIK" 2024

B. India— France Joint Military 2. May 13 —26,
Exercise, “SHAKTI" 2024

C. Harbour phase of Indo —US 3. April
Joint Exercise, Tiger 15— 28,
Triumph, 2024 2024

D. MILAN, 2024 4, March

18— 25, 2024

Codes :

A B C D %

() 3 2 B 1 '

® 3 4 1 2

{c) 2 3 1 4

@ &+ 2 T3

With reference to “Shaksgam Valley”, which of the
following statements is/are correct 7

1. This valley is a strategic key region, that is part
of Pakistan-occupied Kashmir (PoK).

2, India has lodged protest the
infrastructural development being camied out
by China in this valley.

Select the correct answer from the codes given below :

(a) WNeither I nor 2 (b} Only2

(c) Both1and2 (d) Only 1
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'.‘II‘ 35 i

141.
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144,

145,

146,

With reference to the 7™ India—Indonesia Joint

Defence Cooperation Commiltee meeting, which of

the following statements is/are correct 7

1. In this meeting Indonesia agreed to enhance
collaboration in the areas of defence, industry,
maritime security and multilateral cooperation.

2, This meeting was held et Jakarta on
May 5, 2024,

Select the correct answer from the codes given below ;

(a) Neither | nor2 () Only2

(c) Bothl and2 {d) Only1

With reference to “FWD 200B”, which of the

following statements is/are correct 7

1.  This is India’s first indigenous bomber “"UAV™
aircraft.

2. Its payload capacity is 100 kgs.

Select the correct answer from:the codes given below :

(a) Neitherlnor2 (5)75 Only2

() Bothland2 (d)i Only 1

Match List-I with List1[5and choose the correct
answer using the codes givep-below the lists :
List-I i™}  List-TI
(Name of the City) (Period of being
Planned)
A, Kanchipuram l. Post-independence
B. Jaisalmer 2, Colonial Period
C. Kodaikanal 3. Medieval Period
D. Bhilai 4. Ancient Period
Codes : | !
‘A B € Dn
@) 4 3 2 i)
® 2 3 4 )
@ 3 4 1 58
@ 1 2 3 i
L‘Iﬂ:ﬁ:’h Li?l—l with Lisl-.II"a‘nd choose the correct
erusing the codes given below the lists :
E;l_ﬂ-l List-11
amous Local
Sicrwy) (Pfac.et'Areu)
A. Mango shower 1. Punjab to Bihar
B. Blossom shower 2. Kerala
C. Norweste :
S, s e : “@Kﬂmm Coastal Areag
: « West Ben
Codes ; ¥ e
A B ¢
@ 4 1. 3 49 ,
(b 3 2 1 &;q;
ey ¥ 3 s 4 |
M 3 2 & i
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13 R e B 8 T b
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ad 287

1. T M 61 TEe SR auads sy AV R
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] following pairs is DET'F'T-IE
iﬂ; Which ::' the not correctly | 147, Friferfiae #f & #w-ar gw o gfea gt 2 o
mamhﬁd jtal Country Tyt &
cer : G- (a) WHw — eifE
ghartou ™ —  Ethiopia
® yidaw . — (b) HrucdtEl — wiEr
» NP Bt ©) stem - w
(@ omave - @ saRm - S
\ @ publin — Ireland . ey i gﬂ:ﬁ 5a T S
b Which one of the following pairs (Deccan Trap — ﬂﬂﬁ‘lﬁa‘sf ? ) .
1 peculiarity) is not correctly matched ? (a) ‘a‘ﬁaiqm'ﬂ?ﬁﬁﬁ - ;FTﬂﬂ qredT I S
¥ EEC R l:i?"ﬂ )
(s) Intertrappean beds  — Fossils of sea plants (b) ﬁﬁﬂm _ =m 1200 HeX
and animals : it
(5) Depth of middle trap — 1200 metres () B iika) dreg  — TTT430
approximately (@) Perfgdraed - @ 150 Hiex
] Depth of upper trap - 450 metres
' approximately 149. ﬁ :}% o BT T E, ﬁ'ﬂ: T U w1 AR (A) T
| .
(d) Depthof lowertrap - 150 metres it HIT (R) FET T
approximately AT (A) fad fagw g& & A sl ni %-‘{z
T ; . T, Sl A ﬁﬁﬂﬁa‘rﬁﬁqﬁﬁﬁrmﬁm |
| 149, Given below are two statements, one 1S labelled as FTT (R) -%zmmq’reﬁrmnf‘ﬂun _ 500 Rt ufa
|' Assertion (A) and the other as Reason (R). g ]
Assertion (A) : Jet streams discovered during World e ‘
War 11 are high altitude easterly winds. ﬁﬁqq{@ ﬁgﬁaﬁaﬁ?ﬁ.
Reason (R) : Jet streams flow with a speed of (@) (A)TEE s, g (R) eI
300 — 500 km/hour. ®) (A afit (R) 2T Wl # 3N (R), (A) =r HEl
Select the correct answer from the codes given below : ST FAT S | E&E
. (a) (A)is false, but (R) is true. . © (A R ®) e =
i (b) Both (A) and (R) are true and (R) is the correct @ (A) 3 (R) 2w E, g ®), (A # T
explanation of (A). s T e FAATE |
A) is true, but (R) is false. _
‘ E::i:; E}{;ﬂ; (A)Eand (R) are true, but (R) is not the| 150, Tfr-1 i g1 & g i aiftc gt % = oy
correct explanation of (A). T 5 3T AT T HE I 2
150. Match List-] with List-II and choose the correct T, -1
|' answer using the codes given below the lists : @ ey @
List-I ' List-11 A, ﬁ#—m 1. e
(Country) (Mountain)
A. Spain — France 1. Alps B. m 2. AT
B. Switzerland 2. Apennine c. oemten 3. [
C. Bulgaria 3.  Pyrences
D. Italy 4.  Balkan D. 4.
Codes : . ®e :
A B C D o A B C D
(a 3 1 4 2 %ﬂ (a) 13 | 4 2
® 3 1 2 4 ® 3 1 2 4
@ 4 1 2 3 ¢y 4 v 2 3
@ 2 3 1 4 @ 2 3 1 4
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